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int caseSwitch = 1;
switch (caseSwitch)
{
case 1:
Console.WritelLine("Case 1");
break;
case 2:
Console.WriteLine("Case 2");
break;
default:
Console.WriteLine("Default case");
break;

:097TI' KAnN YUpZnNn NXXIND

Case 1

YXJNN ,0nNn TNX7 NIy 17T21N NINYWNN DXY 0'>7V 150N AIND7 "WONY DA 12'KY

2AIND7 AWOK 7Un? .nth 'RINT NRYYY NITIRON
case 1:
case 2:
Console.WritelLine("Case 1 or Case 2");
break;
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Console.WriteLine ("Please enter a letter: ");
char letter = (char)Console.Read ();

switch (letter)

{

case 'a"

case 'e".

case 'i"

case 'o"

case 'u"
Console.WriteLine ("\n It is a vowel ");
break;

default:
Console.WriteLine ("\n It is a consonant ");

break;
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Console.WritelLine("Coffee sizes: 1=small 2=medium 3=large");
Console.Write("Please enter your selection: “);

IN 1 w07 Yun? Awor i 0" TN DX IR 190N IR WENT 710 wnnwnin
("1 i ,nrnnnd 1 -0 X D V1777 YWOR ) .small :'o17'nY



